l g SM2H Graphing Quadratics Test #4 Review 2018-19

No Graphing Calculators

Date: Period:

Name: KQJ/X
\

e State which form the quadratic function is in: vertex, standard, or factored form.

e Find the vertex. Show all work.

e  Find the x-intercepts and the y-intercept. Show all work.

1. f(x)=x*>+4x+3
form:_Stand o a
vertex: f"J—= "'|)
xintercept(s): (=3, 0\) ’. ("l', o)
y~intercept:_C_Q,, '3)
vertex: Xi-le =M -2
a—— 2o 2l

(2-) 34D+
' Y -T2 =

¥ant i 0= (w43 x+0)
X = 3, - {

yrnt: o*+u(0)*3°3
3. f(x) =4x*+8x
form: S'\—()\-MCLPA
vertex:;("’l -L{\

7 7
x—intercept(s):iﬂ‘_l))_i_ﬁl_bg
y-intercept: (D; D)

Vedey: ¥i-fo = =% - |
20 2(1«{)
y: Bty rg(-1)
("\'-Ll) "'q-fg:.-l-}
¥ANYY oz gy (x+d)

R 0,-2=

Y-k wea)*a8l0)=0

2. f()=(x+3)2-2
form:__\/@ Ve X
vertex:_ (=2 "1«)

7

x-intercept{s):mg_j_(;& -&i O)

y-intercept:_( 0 , 7 )
T %
) & la% gt 0—(\(*'3) 1’%

t

e
J2=fx+3)”

cL it 4

=3kJa & X

N (o-f-a)".-:_ = q.—-)_:j

4. f(x) = —%xz

form:_Stand av@ ov VeVt
vertex:__(( 0 0}

x-intercept(s):_( 0, 0>

y-intercept:_( 0, D\/




pi-l 4192

5. f(x) ==x24+4x -8 6. f(x)=(x+1)(2x-5)
form:_Stewnd a4 form: A ctovred
vertex:_[ 2 ""4') vertex: ( 3/ "t, S | 3')
x-intercept(s):_{ N\ W € x-intercept(s): M@)
y-intercept:_( () , ~ ?) y-intercept:_( D, - "D\
\ertet t xi-lo =zl g Verrex: wpid s '!*“7;-?/'--3/4

20 2(<1) -2
- :-(:.)-e-'-t(a-)"? 3 A y: (14-1)(:.(1) c;> (j_Y_H_ -49
(1‘ L() 'j: -4 4g-§ =Y ("h _;> )

e T e Sl ety Witk xoimberzapts v p g,

the y-avis. 4 e\ = -
Ant: QA YL -R =R N Y=g Co+\)(2¢0)- Y= (\)X-5)=-S
pry 4T
7. f(x)=2(x+4)?*-2 8 f()=—-(x+4d)x-7)
form:_\J€N @ Y form: -@&céo r&a{
vertex: (" Y e l) vertex:f\ %/2- 4 (2'\/'-{ )
x-intercept(s): ("’3:0) ; ("S'.O) x-intercept(s): (-'l-{= 9) 4 (—?! 0)
y-intercept: (O 3’0) y-intercept: (_ O, 3—-3)
Xnt, o e Q_(y.-rq.sa' \Le_.f?_‘;f W m e "‘-l*'"l _1
3 - pa|
2.’_%-_'(% +u) -er X*"Q (%:.Jl%) ('3'-*"0(3 '_') -(% X ) ""‘..T
= .’_% x=-4¥ |z -3 - Yert v Yvterzeptt afe pt g .
. y-int: 200w’ 2= 2(4)+2:35) yant: - (o +uYo-1)7 =(4)(-7)
Fillin the requested information. Then graph the function. Plot at least 5 points. =22
9. fx)=—-(x-=3)2+4 4
Vertex: (3. Ll') f
Axis of Symmetry; YT 3 i
= A
Direction of Opening:_eA 0 ) PP qi - g
= \
Domain: (""0‘0( ba) :

Range: ("’W . "l"J




10. f(x) =—-x%>-2x+3 "

Yelo : 2 =~-| y' = () ”'("j+?’
2o 2(-1) -.'._l_tz_*.s".l-{

Vertex: (.- !l \.{-)

Axis of Symmetry:_ X% 7 l

Direction of Opening: d QWA

Domain:J"" Po, O'QB

Range: (ubo‘. '-{"_-‘_

11. f(x)=x*+4x+6
Ri=lo 2 .z =3, g:('l.):'-i-l-i(—'?-)*l@
Vertex:__» ‘:-(!:‘;\ *4-8+6= 2
(= %)

Axis of Symmetry; %X F < 2
Direction of Opening: V) @
Domain:_{(~ &0 060\

™ P4

Range: E.- 9‘| Oc')

Pl qg:3
12. f(x)=(@x+1D(x-3)
Ktptg =143 - | 5:([-&1){!“&)"(3)['19
Vertex:_ o T
Cl,-4)

Axis of Symmetry: K= I

Direction of Opening: LLP

Domain: (-’ Pl ba\
, 7

Range: E" q'_. 00)

g | o | P
=4
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o | go | O
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13. f(x) = —x% — 4x A
wizh 2 B oS- Y s(-2) =% (-2)
s =yt 85 Y

Vertex: (.—; ;.4_)

Axis of Symmetry;__ 8%~ 2=

Direction of Opening: Aown

Domain: (""D'“n_ )

Range: ("b‘a; L-i-j

14. f(x) = =7 (x +4)?

Vertex: (""’(4 O\?

Axis of Symmetry: Y = -t

Direction of Opening: GL oW N

ST 4= | | g | P
»

= | Mo

Ml #&=|g| g | P

Domain: I"M._ 0:9)

Range:_ (= 09, Oj

5]

Pi-2 q: Y4
15. f(x)=—(x+2)(x-4)
Y ptg =2t 25| fj""(“""'r"'”‘>
Vertex 1?"5‘) i = -(8)X-3)= 9
/

Axis of Symmetry: X = |

Direction of Opening: dOuJ N

Is the vertex a maximum or a minimum? M AV MU M

What is the maximum/minimum value? q

o | g | P
fo]

Mo | H=

et

3 5]

C o(0+3Y(0-)F ~(3Y-q) = ®
y-intercept: 08 \
7/

ZEros: "'"7-. "'\‘

What are the x-intercepts? (= 2—= 0> P ( o, O>

D | go | gy




16. f(x)=x"+6x+3

a
Kicle -l -3 Yi(-3)%L(-3)t3 A4
Vertéj 5%3 il it B ol | 3
) N &
Axis of Symmetry: &AF = 2 4
T

Direction of Opening: (A P

LY

. . s L)
Is the vertex a maximum or a minimum? MMLALMMUA

What is the maximum/minimum value? = (g
O« (O)+ 2* 3
-int ;
y-intercept c o, ’J_,)

b

P | Pp |

v
zeros: =~3X b o \&GC.Q',MV?U*'\'C--Q(M“{A_ 4o el 2evvs,
What are the x-intercepts? ( -'3'\]—;_, 0> } ( "3Lfl;. O)
(-s.45,0) ; (-0.55, 0) . !
17. f(x)=(x-1)" +2 ‘ !
Vertex: (| 7 §.> ]
Axis of Symmetry: =\ et , —
Direction of Opening: A 4‘9 j
Is the vertex a maximum or a minimum? _h{ﬂ' N ;th Wy E
What is the maximum/minimum value? 2= e'

CO-\)2ur2 2(-\)% 2273

y-intercept: E o 3_3

zeros: | * LJE— ® set e,q,m\ +e 2evo o Se\ve "j “"&V—JV\? square
vodtg,
What are the x-intercepts? VNOWE..

18. Write a quadratic equa(tion in factoregl form with x-intercepts (-9,0) & (4,0) and passes
=a(w+aYvw-y ol
through (—6,10). l% . a("b"‘“{-b-ﬂ) ( 5_ - \/5( K+ q{x‘_ o ﬂ
\0 = a (3)-\0) — po
lozal-30)”
30 =30 az-Ys
19. Write a quadratic equation in vertex form with vertex: (—12, —-3) and passes through (—8,21).
Yz alw+1ny-3

S 2
21z a (—8-*-1:.5"— 3 (l:jz 3/'2.()( -H:L) - ‘3\
3!: a(qyﬁ —

3

3
3.1—’-**72’)0 3 -
o o



20. Write a quadratic equation in factored form with zero’s x = 3 & x=—/3 and passes

through (5.11). (= Gl(’-g 3

'j'ﬂg(\i \5%: x.*ﬁ; W=a(aa) (5'J'(%’J§X$*ﬁﬂ
W= a(6-J3 (g+U3 k

1= & 25+ 5% - o -VG) ca

2. Write a quadratic equation in standard form with x-intercepts (10,0) & (—4,0) and passes
through (-1, 11). Y~ a(x ~1o)(% ) U 1CSD $ 520
1= a (-1 10X1+4) ="’3(x’-+\+v--l°>’~"4°)

W= a (-1)(s)

M= q(—'ﬂ) ‘"‘L(% -b%"‘w)
=3 -3
_— - - - %o
3o ‘j —Lx ant = 5

22. An object in launched directly upward at 64 feet per second (ft/s) from a platform. Its altitude is
modeled by A(f) = —16¢* + 641 + 80, where ¢, is the time in seconds and h(t) is the height of the
object in feet. Show your work on parts a-¢ if necessary.

a. What is the height of the platform? —_—
h(o) = - \pbBT " bufd + 80 =|BO feer

b. What is the height of the firework when t=4 seconds?
WiY) = —te(u) > U (u) =+ 30
= -lo(le)+ L5+ %O t( &0 Ceet

¢. How long does it take the firework to reach its maximum height?

Qg e Verrrex! wi-lb = b4 =64 = 2
2 2(A€) =32

% Yrvalve is Bwe, yvalve is haignt ‘ 2 Setanals
d. What is the maximum height of the firework? S
2
W(3) = —\o(3) + Ly (2) +8O
= ~lo(d) + (284 8O {‘\-'-k -G‘ee:k-)

e. When is the ﬁrework at 130?3‘7 G =-\lo X= -4t \ﬁ;‘-{ >. @b!' SD)
\éﬂ = ottt +t It o= oY 2(e)

€*-50 =.4 2 -ulid =
= -\t +lMt =50 ot [ToAe-3200 °

1.0k secovels 2 2.9 su.ow:lsj = -M2 2993 (|06, 2-.‘('-!

f.  When does the firework hit the ground? g s

0z -lot Ut +30 % 9\t oy farotori lo\j ucm
O”\b(tz-hl—t-S) q ‘FO\'Mu.\GL.
Oz -l (-8\(<+ |
<=5

ls se Lond ¢



Solve the following inequalities. Write your answers in interval notation.

NO GRAPHING CALCULATORS!!!

23. (x-8)(x+7)>0
2eves: B, -7

25. (4x-3)(x+5)=0
2eves: /q.l -5

(-10,”SDU3u,00)
[
< = i >
l.t
27. ¥ -10x=0
% (yx=10)2 O
ZeroS: O, 1O
' (-ve,0] U [10,69)
" _
. T
M
29. 3x*-27<0
3(11-01).‘;0

3(x+3Y v~ 3) &0
2eves: 3,3

3,37
g

-

(-0~ -V (3’."")

24, —(x+5)(x—2)s(]
2evoS: =S, >

(52, -SJU [230)

<€ Zq % >
26. x> +x-2<0

()C*).Y)Q—{) L0
ews: -2 |

("2': l)

< /S‘Uf >

[ ————— =i
5, Back =3 B TN
Sxrolox + %X 2=
5).(1-2-)-*!(&*-)
(Sx—~+\)x-2) > O
2eves:~ Ve , 3 ( -M"/S)U(zn">

< >
-\

30, %* 525

x*25 >0

(x+5Yx-5) >0
2057805 (nopS )U(S,5)

e S 2

N S




Solve each system of equations by graphing. Write the solutions as ordered pairs.
NO GRAPHING CALCULATOR!!!

31.
2y-8=2x

y=x'+2




